% Cs-137 Cs-134 Eu-154
Cs-137
Cs Eu
L 1
(Ba)
(Ba/mb) 1 () »” 2 3
Ru-103 - - -
Ru-106 | <3.1E+07 4
Sh-125 | <1.5E+07
Cs-134 2.1E+08 2.065 0.668 2.1E+13
Cs-137 3.6E+09 0.15 30.07 0.973 5.2E+14
Ce-144 | <1.6E+07 4
Eu-154 1.2E+08 8.593 0.908 1.6E+13
Co-60 - - -
Nb-95 - - -
Zr-95 - - -
Y 5.6E+14 Bq
1:
2008 10 15
2: (0.5)*¥ 1.2 2008 10 15
2010 1 8
3: X
4:
L ]
(Bg/mL) 5 (m) (Bg) 6 7
Ru-103 | <2.7E+04
Ru-106 | <1.8E+05 4 4
Sh-125 | <9.1E+04
Cs-134 1.0E+06 1.8E+13 86
Cs-137 2.8E+07 18.3 5.1E+14 98
Ce-144 | <7.8E+04 4 4
Eu-154 6.7E+05 1.2E+13 75
Co-60 <5.3E+03
Nb-95 <9.2E+03 4 4
Zr-95 <2.1E+04
5.4E+14 Bq || 97
5: 2000 1 8
6: 1 2009 1
2010 1 18.3 m®
X
7: ( )x 100
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% Sr-90 B Am-241 Cm-244
a
[
(BasmL) * () » ? (B *
Sr-90 5.6E+09 2 28.8 0.972 8.2E+14
Am-241 | <8.7E+07 0.15 432 0.998 <1.3E+13
Cm-244 | <1_4E+08 18.1 0.955 <2.0E+13
1: A
2008 10 15
2: Sr-90 Sr 1.1x 10° py g/mL Sr-90
Sr-90 5.1x 10 Bg/g
3: (0.5)*¥ 1.2 2008 10 15
2000 1 5 8
4: X X
[ 1
(Ba/mL) ° () (Ba) '
Sr-90 | <5.1E+07 °© 17.4 | <8.9E+14
Am-241 5.4E+05 18.3 1.0E+13
Cm-244 7.4E+05 ’ 1.4E+13
5: 2010 1 8
6: Sr-90 Sr <10 p g/mL Sr-90
Sr-90 5.1x 10* Bg/g
7 X 18.3m* 2010 1 5
Am-241 Cm-244 Cs-137 [
1
Sr-90 Sr Sr-90 [
1 y
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]
a a
a a
1

a 4.0x 10 Bg/cm’®
a 4.0x 10 Bg/cm®
1.5% 10° m*/h (1.5x 102 cmi/h)

|

a

4.0x 10 Bg/cm®x 1.5x 10" cm®/hx 365x 24 h = 5.3x 10° Bq
a

4.0x 10° Bg/cm®x 1.5x 10" cm*/hx 365x 24 h = 5.3x 10" Bq
1

1/100 1/1000

(Ba/y)

a 3.3x 108

a 9.4x 10%




